
Questions for Module 30 
 
Q.1 A compressional wave of frequency 300 Hz is set up in an iron rod and passes from the iron 
rod into air. The speed of the wave is 4800 m/s in iron and 330 m/s in air. Find the wavelength 
in each material. 
 
Q.2 A uniform inextensible string of length L and total mass M is fixed at one end and hangs 
freely under its own weight. It is tapped at the top end so that a transverse wave runs down it. 
At the same moment a small stone is released from rest and falls freely from the top of the 
string. How far from the top does the stone pass the wave? 
Answer: x=8L/9 
 
Q.3  
 
 
 
 
 
 
 
 
 
Q.4 A uniform flexible cable is 20 m long. It hangs vertically under its own weight and is vibrated 
from its upper end. Find the speed of transverse wave on the cable at its midpoint. 
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Q.6 Two identical travelling waves moving in the same direction are out of phase by 90°. What 
is the amplitude of the combined wave in terms of the common amplitude A of the two 
combining waves? 
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